J2 J P2 P1 J3A J3B J3c
E20 P 1 —o/\ D20 P 1 —o/\ E20 P 1l [o ol-2 E20 N D20 P 1 g o2 D20 N SN 1A SN 1B B 1C
E20 N 20 D20 N 20 E21 P 3 4 E2L N D21 P 3 4 D21 N 2A 2B 2C
—O —oO o O e O P15 P15 P15
E21 P 2 D21 P 2 E22 P 5 6 E22 N D22 P 5 6 D22 N 3A 3B 3C
E21 N 21 [ ° D21 N 71 [ ° Enp 7 1° ®Ts E23 N D23p 7 1® ®Ts D23 N GNDI—— A GND—5 GND—¢
—O —O o O e O N15 N15 N15
E22 P 3 D22 P 3 EO 9 10 EL DO 9 10 D1 5A 5B 5C
E22 N 2 1° D22 N 2 1 ° E2 n[® ®T1 & D2 1 [® ® T 3 S T GNP 6B L -
—O —O e O e O P24 P24 P24
E23 P 4 D23 P 4 E4 13 14 E5 D4 13 14 D5 7A 7B 7C
O O ® o ® o GND GND GND
E23 N 23 D23 N 23 E6 15 16 E7 D6 15 16 D7 BA 8B 8C
—o0 —oO e O e O N24 N24 N24
EO 5 DO 5 E8 17 18 E9 D8 17 18 D9 9A 9B 9C
O O o O e O GND GND GND
EL 24 D1 24 E10 19 20 E1l D10 19 20 D11 10A 108 10C
—O —oO e O e O vce vce vCce
E2 6 |5 D2 6 o EL2 2l [g ol 22 E13 D12 2l g ol 22 D13 OND—HA e B o B
E3 P D3 P E14 23 g ol 2 E15 D14 23 [ g ol 22 D15 _12A | _12B | 12C
E4 7 D4 7 E16 25 26 E17 D16 25 26 D17 13A 13B 13C
E5 26 [ ° D5 %6 [ ° E18 7 1[® ®T1 E19 D18 7 [® O D19 GNDF—4A GNDF—145 GND—74¢
—o0 —o0 o O e O —=0 —= VREF
E6 8 5 D6 8 [ E24 29 [ g @l]30 E25 D24 29 [g l30 D25 15A 158 NREF |—15C
E7 27 D7 27 E26 3 | o el 32 E27 D26 3 | o el 32 D27 16A 168 oK 16C
E8 N P © D8 9 5 © LE2 B g @l 34 OK LEL B e ol OK
E9 28 D9 28 35 36 35 36 DIN48 DIN48 DIN48
E10 0 [~ ° D10 0~ ° 37 [® O 37 [® ®138
Ell 29 [° DIl 29 [ ° PIS35 T® ®Tw PIS551® ®T w0
—O —oO o O o O
E12 11 D12 1 [41 12 [41 42
EL3 30 [° D13 30 [ ° NIS—,5T® &1 NIS—25T® &1
—o0 —o0 P24 o O P24 e O
El4 12 D14 12 15 16 15 16
o) —O N24 o © N24 ® ©
E15 31 D15 31 47 18 47 18
E16 13 O D16 13 O 2 [® ®Tw 29 [® ®Tw
e > 1° o 3 1© vCcC e @ {|GND vCcC e @ {GND
—O —O
E18 14 D18 14 09 18 550 7324 09 18 550 7324
E19 B 1° D19 B [°
E24 15 O D24 15 O
E25 34 1° D25 34 [ °
—O —O
E26 16 D26 16
E27 B [ ° D27 I
17 O 17 O
3 [° 3% [°
le2 <18 oo 38 Bl1 LeL <18 oo 38 Bl
OK 37 o |- | OK 37 o[- |
GND 1t o~ GND = o~
DB37/female DB37/female
D1 gi tal 1 npUts Tl _ H1 #4 screw, 3/8"
D[O] : Polarity input 1
D[1] : Polarity input 2 H2 #4 screw, 3/8" Bl
: L ]
D[2] : Input 1 enable McMaster-Carr N _
D[31 : Input 2 enable 90272A108 B
D[ 9.. 4]: Gain slider input 1 :'“ #4 lock washer o
D[15..10]: Gair_1 sl!der ir_1put 2 H4  #4 lock washer
D[16] : Excitation switch F i)l <13010
- = cMaster-Carr n
D[17] : C(_)mpensatlon 91113A005
D[18] : Filter enable H5 #4 nut
D[19] : Option enable l:lHG e GND
D[24] : Input 1 filter enable
D[25] : Input 1 option enable g/(l)%g/itgga”
D[26] : Excitation dewhitening 1
D[27] : Excitation dewhitening 2
o TP1
LE : Latch enable . 44 screw, 318"
Digital Outputs: m%g;/itf&cé\rr
OK : Voltages are within range H8  #4 lock washer GND
Analog Inputs: H9 #4 nut
D[23] : Offset adjust
Analog Outputs:
D[20] : Input 1 monitor
D[21] : Input 2 monitor —
D[22] : Sum monitor CM Summing Node Interface Board
Size Number Revision
B D1200152
Date: 9/16/2013 [ Sheet 10of 1
File: D:\Users\..\CMSuminterface1.SchDoc | Drawn By: Daniel Sigg

2 3 4 5 ‘ 6




